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Jooobobobood

00000000000000000000000. 000,00000000000
0000,000000000000000000000O0O00. 0000000000
00000000000000000000000. 0000000000000000
00000000000000000000,0000000000000000000
0000000. 0000000000000000000,000000000000
0000. 00000000000000000000000000000000000
000O00.00000,0000000000000000000000000000
00000.000000,00000000000000000,0000000000
0000000. 000,0000000000000000000000000000
0000000000000000000000000000

00000000,000000000000000000000000000000
000,000000000000000000. 0000000000000, 0000
ooooo.!

*lNewtonDDDDDDDDDDD,DDDDDDDDD KiOoOooooooodooo,ooooodao
0000U000d0d0dO0. 000000oo0ooo0o00000O0O, 000 Landau, L. D. & Lifshitz, E. M.,
Fluid Mechanics. 2 nd. Ed. Pergamon Press. 1987. p.48 —49. 00 0000. s 0000000
gobobooobobooo,obbooobobbooobboooboobo.
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7.1 Coriolis O [

Newton 00000000 000D0.2 0000,0000000000000O0Oxyz0,
OO0DOO0oOoD e 3, kKOODODODOODODOODOODODOODOODOD.ODOOO,

dv d?r

O0000 00000000000000 QUOO000000000Ox’y'z 0,00
oooo 4, 5, ¥oooooo
O00000»02000000

r=xi+yj+=zk,
=2 +yj + 2K (7.2)

O00000.0020000000000000000000

i’ = cos Ot i 4 sinQt 7, (7.3)
j' = —sinQt 4 + cos Ot 7, .
k' =k, (7.5)

goo.
goobodg r0oooobboooobobooaon:

dr dx . dy . dz

a —atTad ek
da’ y dy’ § dz’" , ,d" ,dj’ dk’

irr et A vl i v vl e (7.6)

0000000000 0g0ooooooon (76)0000000000000000
goobo.oobboogobo, bbb oboboooo,boog
goboboooobobuoooo,obbboooobboooobbboooobo.
000000000 chainrule0O0O0OO0O, (76) 0000000000,

dr_dx.+dy.+d kot di+ d]+ dk
a a T a! T w a Y@
N00D00000.00,0000000000000000. 00000000

gogoobooobbodooooobobboooooooboobbobooooooobooob. odg

(7.7)

*2Newton 0000000000 DO0O0OODO,” 000000000000 0000000OO0O0, 00
O0000o0oOoor DooooooO0. NewtonO0OOOOOOOOOOOOOOOOOODO. OOO
000 OxyzU NewtonJOODOOOOOOOOOOOUODOO. ODO0O0OO OxyzOOOOOOODOOOO
oono Of(yZDD Newton 00 O000O0OD0OO. OOOO0OOOO O)?&Z[IEIEIDDD[I



7.1 Coriolis OO

z(Z) Y, Y,
==
y vrh
Y
0" ., X
|
Qt 4 A
« " Z(Z)O X

Qt

071 Oxyz0OO Ox'y'Z0O00O0O0O.0000,000000000000000000A0.

0(r6)0000000000,4,j,k00000000000.000000,0
dodooooooooo, oo ooooooonDoo
oo0oo0o.0o0o,(r6) 00 20000000000000000000OODOO
gooa.

googooo, oo oooodouoonoooogn
doddoododooudo. boboobooboobooboobooboo
00000000000 0oooo0o0ooUooooooooo. (re)ooog
dodobooooodoooooouooooooodog,oooouooooooa
goooodoo. ooooon

(%)I:%i+%j+%k (7.8)
gobo. oo, 0b0dogouooodoobooooboooo, booboooooao
dooooooooooo. ogd

dr do’ , dy' ., d2’ ,

(E)R:EZ +E'j +Ek (7.9)
goo.
D0000000000000000000 »0 (2,4, 2) 0 (2,9, 2)000
dodoooo, oo ooooooonood
0.0dd, oo bobooooooob0ooooogoooboooag,
doodoooooboooouooooooobooooooo.
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(7.6) 00000000 40600 Oxyz 00 OxyzOODOODODDOOOODOO,
Oxyz 000000000000000000000000. 00000000000
ooooo (7.3), (7.4) 00,

./
(%) = —QsinMi+QcosQtj=Q75, (7.10)
I
dj’ ) . . y
Y =-—QcosQi—QsinQj=-0Q1, (7.11)
I

gobo.goboood

dr dr
- — i Q /-/_I-/
(), (&), rowd =

O00. 0000000 @Q=Qk000000000,0000000
dr dr
— ] = = Q x 7.12
()= (%), o (12
gogpoooooo.

O00,00000000000DO00O0O0DOOo0oOO0oDObDoOOoLD 20000
gooboooboboboooooo

(5)-(3),

DOooooo. ™ (7.12)000000000000000,000 100000000
0000000000000 000000000000. 000,00000000 v, v
gooooooon

v=v +Qx7. (7.14)

(713)0 (7.14) 000000, (Q00000000000O0O0OOO0)

() () +ne}uwnn,

/
:<dv) +Qx(d—T) +Q2x v +Q x (2 x7),
R R

dt dt
=v’
d’U/ /
= (=) +20xv +Qx (Q2x7). (7.15)
dt )

* 00000000 20000000000, 00000000000000,000000000000
gopbooooo.
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oooooo (7.1)0,

dv’ ,
— ) =20xv-Qx(Qx7r) (7.16)
dt )

. bbb, 000U UOoQ
00000000,0000000000 (7.16)0000000O0O0UO0O0OOOOOO
000.0000000000000000,00000000000. 0 (716)000
000,00000000 CoriolisO0,0000000£0O.

Coriolis 000000,

e 00000DO0DODODODDDODODODONDONOONODND. 0000000
00000000. (Coriolis 10 Ky 0000, Kep-dr =0.)
e 0000000 DDODDDDONDOOOOOOOOOO.

0D000,0000000,

e U UOUODDDOUOUOUDLDOOUOOD.
e O UIOODDDOOOODDLOOOOD.

(2 O0O0D0OO0O0O0OO0OOOOOO

r100000000,00000000C0000D0 QOU0ObOU0ODUOOOobDODOO
000000000, 0000000000000000000 (D000 CoriolisOO)

gogobooboooooboooob.ob,booobobbooobobboooobLbog,

d
ggooobboboboboooooao (d%:) ggooobbobboooooooooon
I

dv’
god (E) O0000,0000000000 CoriclisOO000OO0OO0OOODOOOO
R

d
00 ((r.16)000). OO00DODOOOOUOO,00000000000OO aDDDDD

D
000 Lagrange 00O EDDD.DDDDDDDDDD Euler 00 0O0O0OD0OOOODO

Oov0Lagrange 0000000000 0OOOODOOOODDOOO:

Dv Dv

— — 4+ 20 x Qx (2 x7r). 7.17

D " D T v+ (2 xr) (7.17)
000 7100,00000000000000000000DOO0DOODOOOOOOOO
OO0 prime, 000, 0000000000000 D0O0OOCOOOOODOOOOODOOOO

0000 ROODODOO.ODO0OO0OO,00000 Euler000O00O0OODO, Lagrange
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000 Euler DO0O0OOOODODO

1
68_’;)+U.VU+QQXU:—;V])—|—KJ—QX(QX’I‘) (7.18)

000. 000000,000000000000000,(7.18) 0000000000
gooooono.

(3 OoO0O0O

000000000000000,00,0000000000000000000, 0
0000000000000000000000000000000000000000
0000000,000000000000000000000000000000. O
0,0000000000000000000000000000000000

0000 (\¢,r)00,3000000 (r,60,¢) 00000000000,0000
0000000000000000000000000000000 72000. OO
O0,\¢,r00000,00,00,00000. )¢, r00000000000000
ex, €5, e, 00000. 000000000000000000 »00000,0000
0 «000000,00000000000 2=r—-e¢000000000.00000
0000000000000000000000000000000000000

&

(&),

-------------------------------

e

072 00O0O0O0OO0O0ODOO.O0O00OODCOOOOODOOOOOO.
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000 0oQ
r: 00 <~ 000000000
6: 000 <« o¢:00, 0+9=7)
¢o: 000 <= Xx0O0

071 0000OOOODOOOOd

(4 oo

0000000 «,000000 QOO00O00O0O00000O0 MOODOOOOO
00000. 00000000 ¢, 00 :000000000000000000. O
0000000000000 000000000,00000000000000000
00000 0000 200000000000 (effective gravity) 000 g 000
0.5 00

2

a *
gg_mg e, + 02 (a+z) cospe,. (7.19)

000 e 00000 (N\,¢,r) 000000000 ODODOOOO, e, 000000
(p,0,2) 0000000000000 DO0O0OOO. 00D0O0O0DOD0OODO0OOOOOOOO
oooooodooooood e, 00000

e, =cospe, —singe, (7.20)

oo0o0o00. 00 ¢g*0000D0O00 GOOOO

g*:i_f;f (7.21)

oooono.
Or7300000000,0000000000O0ODO0OO0O0OODOOd (—eT)D
000,00 ¢,00 AODOODOODODO (DDDDD, eTDDDDDDDD)DDDD
000o0o00ooo00. oooobooooooboooooooooooog. oooo ¢, 0
0 >=0000000.0000000 e, 00000000000O0OO 600000

*4 Coriolis 0000000000 0OO0OO0OONOOD,0000000000000000.
0000000000000 0 gravitational force 000, 0000, 000000000000
gravity force, 0000 gravity 0000 000000O.
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Q
&
SNL S
g* .0‘::: B QX QX r
g tangential plan
¢ ¢ K

073 00O00,0000,000,0000000.

HEN
§=cost L9 &) (=g"es)
g*lgl
= cos ! ( 9"~ Pacos’y ) (7.22)
V(g* —Q%a cos? )2 + (92 a cos ¢ sin ¢)2

000000 00 a=64x10m, Q=73x10%s"1, ¢* =98ms 2000
(722) 0000000000000, 0000004500000 §=9.9x10"20 (O
60)000.000 1km 0000 1.7m0O0,00000000000.000,00
000000000000, 000000000000000000000000, 00
000000000,00000000 0000000000000000OO0.
00000000000000000000000. 000000000000000
0000000000000000000000000.*7 0000000000000
00000000000000000000000000000000000. 0000
000 0000000000000000,000000000000. 0000000
D0000000,00 ¢ 0000000000000000000000000000

*6

g-(—g*er) = (—g'er + 02%a cospey) - (—g* er)
=g¢*2 —Q%a cos (cospe, —sindey) - g* er
— 9*2 o g* Q2(L C082 ¢’

lg| = \/(g* —02a cos? ¢)2 + (Q2 a cos ¢ sin ¢)?

*TO000 6.356 x 105m, 0000 6.378 x 106 m.



7.5 00000000000

oo

0000 |g/0 (719)000000000000,000000000000000C
000000000000000000. 00000000000000000, 00
0000000 000000 «0000D0O0DOO0OO00O0DODODOOOOOODOO Jgl0o
0000000000000000Y 0oOo00o0O000000000000, 00
(g~go=09.806ms™2)0000O0.

(5 OUgooboooon

goobobuooobob,0ogobbuoogbob.bbbooo, bbb boo
ggoooobooooboo, bbbt ooboboobobbbooouooooooboo
ggo. bboooogoooboobodooooboboboooooooboobbooooon
(00000000000 0)000, 0000000000000 DO0OO,
2

a
= r 7.23
g (a+2)2 Jo e ( )

000. 000000 (0D0)000000000, 0000000000000 DOO0O0,
0 Coriolis000000D0000O0ODO. DOO0DODO0OO Euler0O0OOODO (7.18)

*00,00000000000000000,00000000.

*9(7.19)00 |¢/00000000O0ODOOD 34x1072ms™200000. 00000000000
000 9.78ms™ 2,00 9.83ms~2000. (00O, M.L. Salby, “Fundamentals of Atmospheric
Physics”, (Academic Press, 1996) 00000, “00 OO0O0O”,(0000,0000,1979)000.

*WVopoooo,0000 O(102)km DODODDOODODOOODO. D0000DO0DO0O00 O(10)km OO
000.000000,0000000 6400 kmO00.
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goboooooooooa

ov), 1 Ovy 1 Ovy, Ovx AU, UpUgptan ¢
Bt P reosgor T oe T Ty r
1
1 1
— 2Qsin pvg +2 cos pv, = — — @—FIC,\,
—_ p 1T Ccosp OA
i1
(7.24)
Ove 1 Ovg 1 0vg Ovy  vvg  vitang
ot L rcos¢ O v r 0¢ o or _r + ro
2
11 0p
+2Qsingvy = — — — — + Ky, 7.25
or e TR (7.25)
ov, n 1 v, n 1 0w, n ov, U(% —I—vi
vy —— ——— F+ Uy ——=— + U -
ot A rcos¢g O\ ° 19J0) or r
——
*3
10
—2Qcospuy = — — P gy K, (7.26)
—_— p Or

2

000.000 K=(K) Ky, K,) 0ODO KODDOOOODODOODO KOO
0. *000000,00000 r000000000000000, 000 (curvature
term) 0O 00051

76 40000

goobobobobboodoooo, 0o bobbbboooooooooboo
ggoooooboobobbb. bbb, 00000 ooooboboboboobobooboobo

*11(7.24)|:|(7.26)DDDDDDDDDDDDD,DEII:IDI:IDDDDDDDDDDDDDDDDDDDD,
000000000000o0oooo0. 0000000000000 000 heuristicOOOO0O0O00O J.
R. Holton, “An Introduction to Dynamic Meteorology, 3rd Ed.”, (Academic Press, 1992) 0 O
200000000000. OO0DODO00OOO 71000,00000000000D000000O00DO0O0
gooboo,obobo,bbooo,oobbooobbooobbooLobboobDbbooLb. b
goooooooboboboboooog,

De) vy Oey U .
_ TEA — , 7.27
Dt rcos¢ O\ 7 COS ¢ (sm beq — cos e ) ( )
Dey __ U ae¢ Vo aﬁ __u tan ¢6 . Uﬁe (7.28)
Dt rcos¢g O\ r O¢ r A o '
De, _ U der vy ey _ 9, i Y% ¢ (7.29)
Dt rcos¢ OA r O¢ o r? '

gog.
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oooo 0o oooooog
oooooo0 L 10%° m , (1000 km)
oooooo H 10* m, (10 km)
0ooOooooon U 10 ms™!
00ooOooooon W 1072 ms!
oooooo T 10° s, (1 day)
00ooOoo0ooooog 6P 103 Pa
Dooooooo p 1 kgm™3

072 00O0O0O0OOOOODOOODOOOCODO

00000000,00000000 4000000000000.00000 ¢, 0
0 XA 0000000000000000000000000.*2 4000000,00
00000000000 (7.24)0(7.26)00000000000.
0000000000000, 000000000000000. 000000000
0000000000000 720000000

og 1:

00,00,00000,0000 2,y,200, z,y,20000000000

00 w,v,wdODOOO. 0000,

=rcos(¢o)(A— o), y=1(p— o), z=1—a, 7.30)
=U\, UV=1Up, W=TUy. 7.31)
ooooooooon
0 1 o 10 0 0
— — —, — == == 7.32
Oxr rcosgg O\ Oy rded 0z Or’ (7.32)
O00000.0000000,00000000000000. 0000, (7.24)
0 (7.26) O
Du . 1 0p
D " (29+rcos )(v81n¢—wcos¢)———6—+/Cm, (7.33)
Dv  wv u 1 0p
LR (P10 ing=— - 2 34
pe T < * rcos</>> using Dy Ky, (7:34)
Dw  u? +v? 1 dp
De U COS ¢ ) 0z +K (7.35)

*120p000000,00000000000000000000.
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0oo.ooo,
b_o_ ,90.,9.,9 (7.36)
z Oy

ooo.

002 000000000000,00000000000000000000000
00000,000000000000 (7.33)0(7.35) 0000 1/r000,00
000 1/e00000000. 3

003 (7.33)000020,(734) 0000 300000,000000000000
100ms~! 0000000,000 (p=7/2)0000,

P, < (7.37)

gogooo.gg,ogobobbbbboooooooooo,guoooo

|w cos ¢| < |vsin @| (7.38)

0D0000.00000,(7.33)0000 20,(7.34) 0000 3000000

—2Qu sin ¢, (7.39)
—2Qu sin ¢ (7.40)

000000, 000, (7.34) 0000 vw/r O Coriolis 0000000000.
00,00000000000000, Coriolis00000000000000,0
0000000 Corois 00000O000000.00000000000000
0o.

004 0000000000C0O0O00O0,00000000000000000000
0000000000000000000000000000. 00000000
00000000, (7.24)0 w, (7.25) 0 v, (7.26)0 w 00000000000
0000000000, Coriois 00 00000000000000000000
0000000000000, (7.35) 0 Coriolis 000 (7.33) O 2Qwcos¢ OO
000000,00300000000000000000, (7.26) 0 Coriolis O
00000000000000000.0000000000000000000
00,0030 2Qwceos¢ 0000000000, 00 (7.26) 0 Coriolis 0000
0ooooooo.

*1300000000000000 100km 0000000,0000 a0 a~ 6400km OO0,
)
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75

000,0000000000000000000, (7.33), (73400000
00000 3000000000000000000000DOODO0OO0ODOO,
(7.35) 00000000000 OO0. M

00 5: Coriolis000000 2Qsing 0, Coriolis000000000,00 fO00O
00000000. 00000000000000000,00 ¢ 000000
0000000000000, fO ¢ 0000 Taylor 0000 y 0 10000
0000o0oooooo.

f=2Qsin ¢ ~ 2Qsin(¢pg + y/a) ~ fo + By, (7.41)
fO = 2(2sin ¢0, (742)
g = Hreosdo (7.43)

a

00,3=0000000,f000000000.%15

goobbooo,oobbooooo

ou ou ou ou 1 Op

— = —— — - 44
Fr T R M p8x+K (7.44)
ov ov ov ov 1 dp

— — — — 4
6t+u8x+ 6y+w6 +fu pay-l—le, (7.45)

ow ow ow ow 1 dp

e tuge TV, TV é%-——;5;+Kz—% (7.46)
goooooono,
aat+v Vv+f><v———Vp+g+IC (7.47)
gooo. ogdad,
f=(fo+Byk (7.48)

ooo. (7.47), (748)0 400000000000000.
00000000,00000000000,000000000000000000
000000 Coriolis 000000000000 (747)000000000.00,00
000000000000000000000, Coriolis000000 (yOO)0O0O00O
0000, (7.47) 0 Coriolis 00000 f0 (7.41)0(7.43) 0000000000,

*14 (7.26) 00000 Coriolis 10 0000000000000000000,000000000000
oo.
*I5 00002000 f=fo+By— 36y 6=22% 0NOOO0DO00,s000000000

( Yang, H., Wave Packets and Their Bifurcations in Geophysical Fluid Dynamics, Springer,

1990, 247pp.)
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000 00000 304b000b000000,0D00D000DOO0DOODODbDODO
ggoog,bbbbobooooddoooo,bbbbboboo0000oUoga
goooooobobooo. oo, bbb buoo,obbbooubboo
gobo,bbbdodobobuodoobbboooobobboooobbbouooon.
oo, b0 00uuouo, 000U Uuoa
oo, ooo,00000ooggoog
goboboooobobbooobbboooobbbboooobbbooobbog
.o oo,00obo0b00ooouoog
g.oboo,bobodooooooobbo,bbbbodogooobobboboog,od
oo oooooobob. oo, 000ggoogd
ggooboobobobobobotboddooooooooobobo,ooboboboobobobobooooa
ugobooboooooboo. bboooo,bogoobboooboboobo,o0boboobooo
oooboooobbboooobobbooooboboooobbooa.

ggoo

1.0000000000000000000 (722 0000000, sing ~
cosg ~0O(1071) , Q%a/g* < 100000000000, Q?%asin(2¢)/(2g%) O
00.00000000000. (Taylor 000000000 O00O))

2.0 (72)000000000000000,000000000000000,
(7.33) 0000 Coriolis 00O 2Qsingv 0000, 0000 2Qcos¢pw 0000
O00000. 000 (7.34) 0000 Coriolis000000,00000000
ooooooo.




